1 2 3 4 ) 6 7 8

BOM LIST
ITEM | PART NAME Q'ty NOTES
54.0 1 PLASTIC HOOD 2 SEE P/N
2.1| LONG BOLT 2 #4—40
47.04 ) 2
2.2| SHORT BOLT 2 #4—40
11.0 3 NUT 2 M3
| \ | 4 LONG SCREW 2 M3
Erlz ‘ :I'Iﬂ 5 SMALL WASHER 2
C ‘ 5 6 SHORT SCREW 2 M3
\ 7 METAL WASHER 2 M3 2 ®
_\ 14.3
S 1.8
S/ UNC#4—40
8.0 S
' — =
i > Short BOLT
l 3
)3 | e
<H = ‘ MB
| 5
. | . NUT  t=2.3mm
5 \ ‘ J )
\
40.8 LONG SCREW

2 5 4.8
4-40 UNC ‘\ _\ j
1H* 2.2

e & <ol g
‘ N>
6.6 " ;
<
44 b
Long BOLT 6
M3 &
SHORT SCREW
GENERAL TOLERANCE] ANGLE TOLERANCE [PROJECTION | @£ |TITLE | D-SUB Plastic Hood 180°
X. +0.60 X. 15 UNITS mm 25 Positions
X +0.38 X +3 SHEET SIZE A4 SERIES [ 7031-25-GY
XX £0.25 XX 2
DRAWING TYPE|COSTOMER
SCALE 1:1 [SHEET [ 1 OF 1
DRAWING NO. SPECTRA CONNECTRONICS LLP
1 2 3 4 | 5 6 | 7 I 8




